EARAROBEEIERT — 2 N— IBISH —F

20135128170 (K) 20EIEH1H

mff’éﬁi—ﬁu B1 #5%3®%L (w8 | mEmml - |5 5 o s
[A&4£] 1 7 :600,000 3 ~ 23#&:120,000  ~ 33#&:60,000H ~ 43#&:36,0008” . 53&:24,000 ™
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
K o6 | AKfE 1:29.0 1-1-1-1 | 38.3| — 1 498 | BEiERER (EM)
11812 kyoagtwL 7k 56.0 (=) -2) I\'?“/E"Jl‘ié% (#)
L:vAxIEL T b B b gy Fy o amEEMASH b a vk
SR8 o4 | THRE 1:30.2 3-3-3-4 [39.2| — 8 482 | EE=E (EE)
21811 E—X—>3— 56.0 @) (+4) KAV
RR—NRTAYF— B:TULT JUAZRF—T I
S . 4 3 | A—E :30.2 2-2-2-2 | 39.2| — 4 459 | FHABE (FER)
3 4 dA—-E—71> 54.0 (INF) (0) ﬂlﬂgtﬁii
L:2v—hR—o B:734L J7 > NiiE
N HEHE= . - = B#MEZ (ER)
4 ol UaLA— b o4 22 1.(340).8 5-6-6-5 | 39.5 3 zzg;s i
:ozvr—L B:E7/3-FK B=itie ]
35 o6 | REEE 1:30.8 8-8-7-8 |39.4| — 2 486 | =SITHR (FEH)
5056|2117 REITN 56.0 6) (o) | BEMETRER (1)
R:ISUNTRTAY BLFILF Pzt el
% 4 5 | HHE :30.8 1-11-9-10 | 39.0 | — | 10 | 487 |HEHEKX (k)
67|10 TLY Y IN=Y 56.0 %) o i
X+ TTLRT71—7 B:wATY Gte )
N a0 . a3 _ FHEZER (BR)
71111 Yo/ a0—-Fzx 'S 56.0 1'(32])'] 338 |40 o (5&3) TIHEEET
SRR N=IN—= BHT /v T & A
K 47 | |AME 1:31.1 7-7-8-6 | 39.7| — 7 476 | HEEM—BER (FEH)
EH 3| #¥—2E-F 6.0 (75%) @) | EU=F
R:2&—1)>A-X B:VITITIL A0 2pdk e
ISP #o4 | KEBAER 1:31.3 10-10-10-9 | 39.7 | — 9 440 | =EEBEZ (ER)
9(5|5 | LIARX—N 5.0 (3/4) o) | W) Fr—xtEVa>
Z:vn7x #B:Ya—MFEY B i)l 1455
> : 4 3 | JRE— 1:31.3 6-5-5-7 | 40.2| — 5 514 | MAHIERS (FEH)
Eﬂ g|ERAIAATIA 5.0 (74%) 45 |AEES
LAY 3 R—F— Biv~N-—F FMEZ %Y K
> = 5 44 | BKE 1:31.3 12-12-10-11] 39.4 | — 11 452 | EHES (EH)
111719 by aws4— 56.0 (74%) (o) | EHBIS
LZART T ZXx— B:FoohbhToa39 ry Y avEEMASH T avH
# 8 | MAAT 1:32.7 9-9-12-12 [40.9 | — | 12 | 467 | HfTHERE ()
EH 7| &A= ® (o | B
:AY—FK B:¥xv=A4>X75 JEE e
@ 1—F—@&BIEf
1a—74— 12,4,11,1,2,8,3,6,7,5,10,9
2ol =3F= 12,4,(1,11),8,2,3,6,7,5,10,9
30—+— 12,4,(1,11),8,2,6,3,10, (5,9) ,7
4A3—F— 12,4,1,11,2,3,8,6,5,10,9,7
[ RN
B OB 12 130M 714K 11-12 910M e & 8-8 2,410 &R 4-11-12 5,590
% B 12 120 4-12 4801 | | B = 11-12 2,130 | | 3EE | 12-11-4 15,080
1 950H 4-11 3,330 B H 12-11 1,590M
4 340M

ABICOVWTRDTEEERROODE. TR LIV,




